EARAROBREBRT —5 XN—ZXBISH—F

20244108135 (B) 15@&R18

SN B | SA AV vD—5& C21 YS5F—i (s | EEm - | 9 o0 B
[#&%] 17&:400,000 3  237#&:128,000H  3%&:64,000H  43%&:48,000 ™  53&:40,000H
BE\RE FRESS /IR HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
B, pes SHRE : _ % (&
118l 9| EFRYRY it 3 54_0% 1.(3_7).1 2-3-3-3 | 38.8 2 (5+o37) ﬁggﬂéx)@
RibwPO—UR B LA AT I
— hEgEth 2 -1-1- - Egx (&R
2 lgls| FA7IIL—F i3 | e 1.(317).3 1-1-1-1 | 39.4 1 (4_7;) .
RE—UR B:bhoUTx— =YV T7—L
< EHIE : -5-6- - BHslh (@R
siqlq | FvoFOT0w N 3 | Bl & 1.(327).7 5-5-6-5 | 39.0 5 (4_638) ﬁﬁ%ﬂg( )
RiFVyvH/FE2F B:H/INR il &
I 3 | MRS 1:37.8 9-8-4-4 |38.9| - 3 1 | NERE @R
N 1 PAA2 R " 56.0 ) (5) | KAJ IMOTOHD ()
KR:O0—RAFO7 B:7AT 1) T BB
3 4 3 | REXKT 1:38.6 4-2-2-2 | 40.4| — 4 M0 [HEH &R
AEREEAY E %.0 7 (o) | HBEEDE
RiIT7AV=Z—RIL B:IULyF+vITSVAH EFT7—L
o RTTR : -6-7- - SHERE (&R
6177 EYHS Y~ # 3 | BT 1.(3%.8 6-6-7-6 | 39.6 7 (4_527) e,
RUTIWAVINT N B:HEF—L S
w —2s55 L3 | RERD 1:39.1 7-7-8-8 | 39.7| — 8 47 | &Eke &R
7 6| FVvIA—XST i 54.0 a2 #5) SREL
R:AD—JUFv—R B:IRT—3T ABR|ME BT NU—R—ZSVF
S~ 3 | BRERKH 1:40.4 8-9-9-9 |40.3| -— 9 425 | EHEX (&R)
] 3 R R & ®) | @ F7=2revay
R:Dubawi B:IVY TV RFP—h Godolphin
# 3 | KEBH 1:42.3 2447 |39 - | 6 | @18 |EE-S &R
N > PIE=ES 54.0 © @y | EEKE
LX:03947 B:70-3)LHh—" #HBET7—A
@ 1—F—&BIENL
13—7+— 8,(2,9),5,1,7.6,3.4
20—+ — 8,5,9,2,1,7,6,4,3
30—7+— 8,5,9,(2,4),1,7,6,3
43— — 8,5,9,4,1.7,2,6,3
[ BN
B 9 580 | | DA B 8-9 250/ = 8-8 470/ 3R 1-8-9 760/
8 B 9 160 1=9 460/ (=] 8-8 560F3 3EH 9-8-1 4,430
8 110H4 1-8 300M9 5= 8-9 5509
1 2004 S 1 9-8 1,300M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




